MATH-1860







Name _____SOLUTIONS____________

Sample Exam 1  Form A

Spring 2003







S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  The point value for each problem is given.  Give exact answers.  (No decimal approximations.)  You are permitted to use a non-graphing calculator.
1.
Sketch the region bounded by the graphs of the equations 
[image: image85.png]


 and  y = 0.  Then set up the integral that will give the area of the region.  Put a box around your answer.  (7 pts.)
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x-intercepts:  
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2.
Sketch the region bounded by the graph of the equations 
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.   Then find the area of the region.  Put a box around your answer.  (12 pts.)
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Points of Intersection: 
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Answer:  
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3.
Sketch the region bounded by the graphs of the equations 
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.  Then set up the integral that will give the volume of the solid generated by revolving the region about the x-axis using the Disk  Method.  Put a box around your answer.  (10 pts.)

[image: image82.png]Iy








Points of Intersection:  
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Answer:  
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4.
Sketch the region bounded by the graphs of the equations 
[image: image29.wmf]2
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 and  y = 4 .  Then find the volume of the solid generated by revolving the region about the x-axis using the Shell Method.  Put a box around your answer.  (10 pts.)
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Answer:  
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5.
Sketch the region bounded by the graphs of the equations 
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 , and  y = 0 .  Then set up the integral that will give the volume of the solid generated by revolving the region about the y-axis using either the Disk or Shell Method.  Put a box around your answer.  (10 pts.)
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6.
Differentiate the following functions.  Put a box around your answer.
a.
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   (Do not simplify your answer.)   (10 pts.)
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b.
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7.
Evaluate the following integrals.  Put a box around your answer.
a.

[image: image54.wmf]ò

-

0

3

2

t

e

dt

    (8 pts.)


=  
[image: image55.wmf]ò

-

-

0

3

2

dt

e

t



Let 
[image: image56.wmf]t

u

2

-

=






Then  
[image: image57.wmf]dt

du

2

-

=



=  
[image: image58.wmf]ò

-

-

-

-

0

3

2

)

2

(

2

1

dt

e

t

  =  
[image: image59.wmf]ò

-

0

6

2

1

du

e

u

  =  
[image: image60.wmf]ò

6

0

2

1

du

e

u

  =  
[image: image61.wmf][

]

)

1

(

2

1

2

1

6

6

0

-

=

e

e

u



Answer:  
[image: image62.wmf])

1

(

2

1

6

-

e


b.

[image: image63.wmf]ò

dx

x

x

3

4

    (8 pts.)

Let  
[image: image64.wmf]x

u

=







Then  
[image: image65.wmf]dx

x

du

2

1

=



=  
[image: image66.wmf]ò

dx

x

x

4

3

1

  =  
[image: image67.wmf]ò

×

dx

x

x

2

4

3

1

2

  =  
[image: image68.wmf]ò

+

=

+

×

=

c

c

du

x

u

u

4

4

ln

3

2

4

4

ln

1

3

2

4

3

2



Answer:  
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8.
Given the function 
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a.
Interval(s) on which  h  is increasing:  
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c.
Local maximum(s) of  h    ____None________

d.
Local minimum(s) of  h:  
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_1075130085.unknown

_1075135521.unknown

_1075206842.unknown

_1075209802.unknown

_1075210078.unknown

_1075210897.unknown

_1075211389.unknown

_1075211616.unknown

_1075211744.unknown

_1075210939.unknown

_1075211303.unknown

_1075210554.unknown

_1075210708.unknown

_1075210804.unknown

_1075210839.unknown

_1075210644.unknown

_1075210347.unknown

_1075210356.unknown

_1075210117.unknown

_1075209965.unknown

_1075210018.unknown

_1075209839.unknown

_1075207129.unknown

_1075207189.unknown

_1075207238.unknown

_1075207150.unknown

_1075207002.unknown

_1075207082.unknown

_1075206878.unknown

_1075136013.unknown

_1075206024.unknown

_1075206498.unknown

_1075136186.unknown

_1075135835.unknown

_1075135935.unknown

_1075135783.unknown

_1075132392.unknown

_1075134331.unknown

_1075134351.unknown

_1075135385.unknown

_1075134341.unknown

_1075133448.unknown

_1075133539.unknown

_1075133164.unknown

_1075133239.unknown

_1075132535.unknown

_1075131197.unknown

_1075132224.unknown

_1075132321.unknown

_1075132243.unknown

_1075132087.unknown

_1075131996.unknown

_1075130387.unknown

_1075130933.unknown

_1075131017.unknown

_1075130264.unknown

_1074608759.unknown

_1075123754.unknown

_1075127056.unknown

_1075129029.unknown

_1075129818.unknown

_1075124031.unknown

_1074608933.unknown

_1075123046.unknown

_1075123605.unknown

_1074609032.unknown

_1074609161.unknown

_1074608999.unknown

_1074608883.unknown

_1074608905.unknown

_1074608786.unknown

_1074608607.unknown

_1074608669.unknown

_1074608715.unknown

_1074608633.unknown

_1074608523.unknown

_1074608543.unknown

_1074608482.unknown

